
a = 3 b =3

n
=1.

:a =b =3

To remove term containing by
we rotate the awe through

an angle 0:450

SinO= I
-

52
2000=



x'
= xCoso - 4 Sino

y=x sino+Y Coso.

x-Y
n =

xj
-

YT = -

52

y =

xy + YE=
Put a'andy' in B



·(EY" + 3(xy
-

+a(E)() - 1 = 0

32xy) +3(x+ 2xy) + 2(x--yz)
-=1
2

3x
+ 3y2 - 6xy + 3x-+ by"+ 6xy +2x-- 2y=2

8x" +4y2 =2

4y" +2y= =1



change X to x and y to y

4x2 + 2y = 1.

② show that if ac+anny+by:= 1

and a'x+en'xy + by"= 1

represent the same conic and

the axes are rectangular then

(a - b)" +4h
= (a'- b" + 44

12



Sol ax+ fnxey + by
:

= 1-0I

and ax+ nxy +b'y=1 -2

Now & is transformed formof 0
trace
- a + b =a+ b -B

n
-
- ab =n- - ab -8

spearing
(a + b)u =(a + b-



a
+

b" + 2ab =a +b+2ab-8

Multiply equation 4 by 0.

4u-4ab= 44" - Ya'b'-8

Add 8 & O

a
" +b" + 2ab + 44" - 4eb

- a" + b + 2a'b'+ 4h - ya'b

a
+

b
-

2ab +4n
=

a+ b"- 2a'b+4n



(a - b)- + 4u=(a' - b"+ 4h'

Hence Proved.
F


